NEW PRICE NEW ITEM

								INE VV II LIVI	
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
1	Drilling Hammer DHR171Z	Thakita.	Drilling hammer with SDS Plus clamping Dustproof switch Supplied without batteries and charger	€ 156.40	1	pcs	€ 156.40	0.5~1W	
2	Impact wrenches 18V DTD152Z	Thinkita.	Low weight of only 1.3 kg Easy to use and compact LED desktop lighting The luminous body of the machine in the dark Compact and lightweight 4-pole motor Electronic switch, engine brake	€ 81.59	1	pcs	€ 81.59	Beg. of July	
3	Grinders / angle / straight 18V DGA452Z		An electronic current limiter with a warning light allows continuous use while controlling the load on the motor. Restart protection function with warning light Easy grip, motor housing with small circumference Charging time 22 minutes for 3.0 Ah lithium-ion battery Without battery and charger	€ 81.59	1	PCS	€ 81.59	0.5~1W	
4	Angle grinder 125mm 9565CR		Input 1,400 W Idle speed 12,000 min -1 Grinding wheel diameter 125 mm Spindle size M14 x 2 Weight 2.6 kg Dimensions (L x W x H) 299 x 139 x 103 mm	€ 107.44	1	PCS	€ 107.44	0.5~1W	

<mark>NEW PRICE</mark> NEW ITEM

								INE VV II LIVI	
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
5	Saws 18V DJR183RTJ		Engine brake Tool-free cutting blade replacement Universal tool holder LED work lights Supplied with two batteries, charger and carrying case	€ 284.23	1	PCS	€ 284.23	0.5~1W	
6	drill screwdrivers 18V DDF485Z	makita	By using a BL (carbonless) motor, the battery capacity is used even more efficiently than with conventional electric motors Powerful motor for high working speed and high torque Torque setting in 21 steps Keyless chuck for one-handed operation and spindle lock LED work light XPT (eXtreme protection technology) protected against dust and water Mechanical 2-speed gearbox with metal	€ 101.99	1	pcs	€ 101.99	0.5~1W	
7	Impact screwdrivers 18V DHP485Z	Thakita Thakita	Impact drilling, drilling and screwdriving 2 speed gearbox with metal gears Compact and lightweight 4-pole motor Double LED lighting with afterglow function Drilling and tightening in 16 degrees Supplied without battery, charger and carrying case	€ 110.15	1	pcs	€ 110.15	0.5~1W	

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
8	Impact wrenches 18V DTD156Z	makita	Low weight of only 1.6 kg with BL1850B Lightweight, compact impact screwdriver Maximum tightening torque 155Nm LED desktop lighting Aluminum gearbox cover Comes without batteries, charger and case	€ 70.72	1	PCS	€ 70.72	CHECKING	DTD156RTJ on stock
9	SDS plus 18V drilling hammers DHR243Z	Trankita.	Carbonless engine Clamping of the SDS Plus tool Hammer drilling, drilling, chiselling Chisel adjustment in 40 positions Supplied without battery, charger and carrying case	€ 250.24	1	PCS	€ 250.24	0.5~1W	
10	Impact wrenches 18V DTW251Z	Trakita	Low weight, high performance LED lighting with afterglow function The luminous body of the machine in the dark Compact and lightweight 4-pole motor Electronic switch, engine brake Supplied without battery, charger and case	€ 105.40	1	PCS	€ 105.40	0.5~1W	

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quota (부가세미		Qty (MOQ)	Unit	Ar	nount	L/T	Remark
11	Hand-held circular saws HS7601	Thakita	Ergonomically shaped additional handle Powerful 1,200 W motor Robust base plate with clamp depth adjustment based on the clamp principle With the possibility of connection to a vacuum cleaner Noise only 86 dB Supplied with carbide saw blade SAW 190mm	€ 13	31.23	1	PCS	€	131.23	0.5~1W	
12	Impact wrenches 18V DTW301Z	Thakita. Thakita. Source 18	automatic stop, the device automatically stops for 0.2 seconds after loosening the screw / nut XPT (eXtreme protection technology) - protected against dust and water using a BL motor (carbonless), the battery capacity is used even more efficiently than with conventional electric motors compact design with a total length of only 147 mm LED work light battery capacity indicator	€ 19	95.16	1	PCS	€	195.16	Beg. of Aug.	DTW301RTJ on stock
13	Drilling Hammer DHR263PT2J	G C C C C C C C C C C C C C C C C C C C	2 x 18 V Li-Ion technology Clamping of the SDS-Pus tool Drilling, hammer drilling, chiselling 40 - chisel setting positions LED desktop lighting Supplied with two batteries, dual charger and systainer	€ 54	46.71	1	set	€	546.71	0.5~1W	
14	Impact Wrench DTW190JX3		Low weight, high performance LED lighting with afterglow function The luminous body of the machine in the dark Compact and lightweight 4-pole motor Electronic switch, engine brake Supplied with battery, charger and case	€ 27	74.03	1	pcs	€	274.03	0.5~1W	

NEW PRICE

									2023 00 13
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
15	Tail Saw DJR186RTE		Possibility to adjust the stroke Tool-free knife change Dust treatment Exchanging carbon from the outside Universal attachment of saw blades LED lighting with afterglow function Supplied with battery, charger and carrying case	€ 367.19	1	set	€ 367.19	from July	
16	Angle Grinder DGA504RTJ		Li-ion battery with MAKSTAR charger with optimal charging system An electronic current limiter with a warning light allows continuous use with load control on the motor. Restart protection function with warning light Easy grip, motor housing with small circumference Charging time 22 minutes for 3.0 Ah lithium-ion battery Supplied with 2 batteries and charger	€ 359.71	1	PCS	€ 359.71	0.5~1W	
17	Portable Cutter LW1401		For cutting and shortening steel and metal profiles Spindle lock Very safe work Keyless blade change Keyless angle adjustment Locking the saw during pin transfer	€ 235.96	1	PCS	€ 235.96	0.5~1W	LW1400(196.63€)
18	Makita CUTTING WHEEL B-10665-5	125/2.5/22.22mm 1	CUTTING WHEEL FOR METAL 355x3x25,4 5pcs/PACK	€ 19.02	6	pack	€ 114.12	1~1.5W	Cutter 2414NB / EN / LW1400 / LW1401 / DLW140 Big Qty can be discounted

<mark>new Price</mark> New Item

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
19	HM milling Gentle MAKITA B-52788-10	10×10×101	Straight grinders, 6mm pliers	€ 12.45	10	PACK	€ 124.50	1~1.5W	
20	Steel wire brushes, disc - knot - internal threads M14 D-29577		Brush: 125, wire: 0.5, Springs: 22 12,500 th most common	€ 6.03	20	pcs	€ 120.50	1~1.5W	
21	CORDLESS IMPACT WRENCH DTW1002RT J	Thakita.	High tightening torque 1,050 Nm at a weight of 3.4 kg Special construction Separate switch for LED desktop lighting Large switch with right and left operation 22 minutes charging time for 3.0 Ah Li-lon battery Supplied with two batteries and charger	€ 528.35	1	set	€ 528.35	0.5~1W	
22	Drilling Screwdriver DDF487RAJ	madia	Two mechanical speeds and a vario switch for optimal speed regulation. BL motor: robust, powerful and extremely efficient, achieving greater autonomy per battery charge. Equipped with a 13 mm diameter quick chuck and automatic spindle lock for easy change of drills and bits. Precise torque setting in 20 steps + drilling.	€ 234.59	1	set	€ 234.59	0.5~1W	Makita

NEW PRICE NEW ITEM

										INLVV IILIVI	2023 00 13
No.	Item	Photo	Code, Spec.	Quotati (부가세미		Qty (MOQ)	Unit	Aı	mount	L/T	Remark
23	Angle Grinder GA9060R		Protection against overload and unintentional switching on of the machine The slim body of the gearbox allows for a deeper cut A new generation of engines with lower weight and size Large switch for comfortable work	€ 139	9.39	1	PCS	€	139.39	0.5~1W	Makita
24	Angle Grinder GA5030R	Trada.	Input 720 W Idle speed 11,000 min -1 Grinding wheel diameter 125 mm Spindle size M14 x 2 Weight 1.8 kg Dimensions (L x W x H) 266 x 138 x 103 mm	€ 54	4.40	1	pcs	€	54.40	0.5~1W	Makita
25	cutting (Gridning) wheel	Thakita EN 12413	THIN CUTTING DISC FOR NON-STEEL 125x1x22	€	1.28	100	pcs	€	127.50	0.5~1W	Makita Alternative code: E-03040
26	impact Drill HP2051HJ	Trakta	Reliable clutch with long service life High performance and minimal vibration Gearbox housing made of cast aluminum Electronic switch with L / P operation 2-speed gearbox with electronic control	€ 131	1.23	1	PCS	€	131.23	0.5~1W	Makita
27	Makita 5A Battery 632F15-1	makita garanta	BATTERY Li-Ion BL1850B 18V 5.0Ah Li-ion with capacity indicator	€ 67	7.99	5	pcs	€	339.96	2~4D	old code: 197280- 8

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotatio (부가세미3		Qty (MOQ)	Unit	А	mount	L/T	Remark
28	Makita 3A Battery 197615-3	makita aseria	BL1430B Li-ion BATTERY Li-ion with capacity indicator 3.0Ah	€ 52	2.28	6	pcs	€	313.70	0.5~1W	
29	Cutters GOF 130		No interruptions and no jams: increased milling efficiency Rated power input 1,300 W Idle speed 11,000 - 28,000 rpm Tool clamping 6 - 8.0 mm	€ 120	0.99	2	pcs	€	241.98	0.5~1W	BOSCH
30	Bosch laser distance	## BOSE GRAP 3705 1870	Use a wide range of measuring modes in one compact version with the GLM 40 Professional laser distance meter. All in one - all relevant measuring modes in one compact version	€ 74	4.57	2	pcs	€	149.13	checking	BOSCH
31	Rangefinde r GLM 50-22		Professional can handle demanding conditions on the construction site.	€ 116	6.94	2	PCS	€	233.89	0.5~1W	BOSCH
32	Laser level GPL-5 G		Working range up to 30 m Durable and compact 5-point laser with highly visible green laser points Laser diode <1 mW, 500 - 540 nm Working temperature -10-45 ° C Storage temperature -20-70 ° C Laser class 2 Work area, value 30 m	€ 195	5.43	1	pcs	€	195.43	checking	GPL 3 G available

NEW PRICE

										INE VV IIEIVI	2023 00 13
No.	Item	Photo	Code, Spec.		uotation 가세미포함)	Qty (MOQ)	Unit	A	mount	L/T	Remark
33	Cross laser box GLL 2-10		Laser diode 630 - 650 nm, <1mW Working temperature -10-50 ° C Storage temperature -20-70 ° C Laser class 2 Work area, value 10 m Working range 10 m Leveling accuracy ± 0.3 mm / m * (* plus	€	97.01	2	pcs	€	194.03	3~5D	
34	Cordless hammer drill GBH 18V- 36 C		annlication dependent deviation) The most powerful cordless hammer SDS plus on the market Impact energy, max. 5.8 J Ø of concrete drilling with hammer drills 8 - 32 mm Weight without battery 4.9 kg	€	523.81	1	PCS	€	523.81	0.5~1W	
35	Cordless eccentric grinder GEX 18V- 125		Optimal control for sanding larger surfaces Ø grinding wheel 125 mm The diameter of the circular motion path 2.5 mm Idle speed 6,000 - 10,000 rpm	€	147.80	2	PCS	€	295.60	0.5~1W	
36	Angle Grinder GWS 2200 with out start-up		in a cardboard box with an additional handle Rated power input 2,200 W Idle speed 6,500 – 6,500 min-1 Ø of the disc 230 mm Ø of the rubber grinding plate 180 mm	€	116.42	2	PCS	€	232.85	2W	BOSCH
37	angle Grinder GWX 750- 125		5inch 125mm code: GWX 750-125, Bosch Rated power input 750 W Idle speed 11,000 min-1 Wheel Ø 125 mm	€	81.87	3	pcs	€	245.61	check	BOSCH

NEW PRICE NEW ITEM

								INCAN LICIAL	2023-00-13
No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
38	cutting (Gridning) wheel	LOCK B ADSST	5", 125 x 1 x 22.23 for cutting piping materials BOSCH X-LOCK Flat Cutting Disc Standard for Inox System	€ 0.76	100	pcs	€ 75.90	0.5~1W	supply all BOSCH Disc! Big Qty can be negotiated the price
39	cordless Drill/Driver GSR 18V- 50,		Torque (soft / hard / max.) 28/50/50 Nm Idle speed (1st gear / 2nd gear) 0 - 460/0 - 1,800 rpm Max. Ø screws 10 mm	€ 92.01	2	PCS	€ 184.02	checking	BOSCH also available 'set selling'
40	Cordless angle grinder GWS 18V- 15 C	(B) ROBERT	GWS 18V-15 SC (solo) + LBOXX Higher power than in the past: the power of the new cordless angle grinder fully corresponds to the power of a 1,500 W power tool Idle speed 9,800 rpm Grinding / cutting disc, Ø 125 mm Weight without battery 2.2 kg	€ 264.44	1	set	€ 264.44	checking	
41	Professional set: hammer drill GSB 550 + GWS 750-125 + Toolbag in carton		Angle grinder GWS 750-125 Professional Impact drill GSB 550 Professional Bosch Professional tool bag	€ 96.36	2	set	€ 192.72	checking	BOSCH

NEW PRICE NEW ITEM

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
42	Cordless drill driver GSR 12V- 30 Professiona	S BOSS A	Top functions within reach for screwdriving and drilling The brushless motor guarantees a longer tool life High torque and high drilling speeds enable fast and reliable work	€ 71.00	2	pcs	€ 142.00	0.5~1W	
43	GSR 120-LI + 2x 2.0Ah batteries + charger + suitcase		Available power and available durability for screwdriving and drilling The two-speed transmission enables high productivity and excellent torque Electronic Cell Protection technology extends the life of the battery and its durability	€ 92.01	2	set	€ 184.02	0.5~1W	
44	GDX 18V- 200 + GSR 18V-50+ 2× GBA 18V 4.0Ah + GAL 18V-40 in L-BOXX 06019J2220			€ 364.42	1	pcs	€ 364.42	0.5~1W	
45	GWS 180- LI Ø 125 mm without accumulato r		The high-performance brushless motor provides an equivalent power of 700 W Balanced design and slim handle, specially optimized for versatile cutting Increased productivity through improved efficiency and performance A higher level of comfort thanks to the slim handle and keyless fastening	€ 107.95	2	pcs	€ 215.90	0.5~1W	

NEW PRICE

								I V L V V I I L I V I	
No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
	Battery lamp GLI 12V-330		versatile Bosch work light with an output of 330 lumens in the 12 V category. It is equipped with 10 extremely bright LEDs with two levels of brightness for perfect lighting. It also has a strong magnet, a carabiner, a hook and allows angle adjustment up to 200° for flexible and quick adjustment in any environment. This work light is excellent for lighting small spaces and is equipped with a 1/4" tripod thread.	€ 59.72	3	pcs	€ 179.17	0.5~1W	
47	Battery GBA 12V 2.0Ah	12V 2,0 Ah Li-len	The low weight allows for more pleasant work, especially when used overhead Bosch Professional 12V system – battery suitable for all tools of one voltage class Extremely durable tool: fully functional even after falling from a height of 3 m onto concrete	€ 35.50	4	· pcs	€ 142.00	0.5~1W	
48	ACCUMUL ATOR GBA 18V 2.0AH	18 V 2007	Lightweight Compact battery with 18 V voltage, 2.0 Ah capacity and COOLPACK technology	€ 51.44	3	pcs	€ 154.32	0.5~1W	
49	GBA 18V 5.0Ah, box	18V sum	Battery voltage 18 V Weight 620 G Battery dimensions (width x length x height) 74 x 115 x 56 mm Battery capacity 5.0 Ah	€ 64.48	10	pcs	€ 644.81	2~3D	

NEW PRICE NEW ITEM

								INLVV IILIVI	2023-00-13
No.	ltem	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
50	2 × GBA 12V 2.0Ah + GAL 12V-40		2 × 12 V battery with a capacity of 2.0 Ah and a quick charger	€ 79.35	2	set	€ 158.70	0.5~1W	
_	Quick charger for Li-Ion batteries GAL 1880 CV		Product series PRO accessories Specification 14.4 V - 18 V; 8.0 A; 230 V, EU Product text, accessories, gray GAL 1880 CV universal quick charger for all Bosch Professional Li-lon plug-in batteries from 14.4 V to 18 V	€ 71.15	3	pcs	€ 213.45	0.5~1W	
52	2× GBA 18V 5.0Ah + GAL 1880 CV	18 VE	2 * 18 V batteries with a capacity of 5.0 Ah and a fast charger	€ 155.25	1	pcs	€ 155.25	0.5~1W	
	Quick charger GAL 18V6- 80		Continuous charging for uninterrupted operation - charger with 6 battery charging interfaces Battery charging voltage 14.4 - 18 V. Charging time with battery capacity 5.0 Ah (80% / 100%) approx 28/47 min.	€ 94.19	2	pcs	€ 188.37	0.5~1W	
54	CORD REEL		230 V 4.8 A max./1100 W wound 10 A max./2200 W fully developed. 4 sockets with thermal fuse conductor cross section: 1.0 mm2. Cord length: 20 Meter	€ 47.07	5	PCS	€ 235.37	checking	

NEW PRICE NEW ITEM JM Euro s.r.o. 2023-06-13

No.	Item	Photo	Code, Spec.	Quotation (부가세미포함)	Qty (MOQ)	Unit	Amount	L/T	Remark
55	CORD REEL		230V 4.8 A max./1100 W wound 10 A max./2200 W fully developed 4 socket with thermal fuse conductor: 1 mm2 cable length: 30 Meter	€ 68.30	5	PCS	€ 341.51	checking	
	discount				1	time	-€ 601.83		
	Delivery Charge		To Slovakia/ Hungary/ Poland/ Czech 10€/BOX ~ 120€/PALLET	€ 35.00	1	Ship	€ 35.00		1,000€~ : Free (부피)중량물 제외 (예: 보루, 헬멧 등등)

EXW Trnava(SK) € 11,469.81

Payment : In Advance

If the qty is changed, probably the price will be changed

Leading Time; counting after payment confirmation

https://www.jmeuro.com/powertool